Differentiation Quiz ... Set 1

Multiple Choice
Circle the choice that best completes the statement or answers the question.

1. Determine £'(2) for fIx) =x* +4x—1.
a. 7 c. 11
b. 8 d 12

All but one of the functions is differentiable for all real values of x.
Which function is not differentiable for at least one real value of x?

!-._.l

& Ax)=x"+1 ¢ hlx)=|x|

b. 1 d =3 -
glx) = 3 Jx)=x"-3x

x+1
. Ay 3
3. Determine the derivative T for y=2x"-3x+1.
a. fx?_13 ¢ 3x*-3
D. 6x* - 3x d x*-3

2

4 Determine 2 for y= = 1 1
. elernune —— Ior = wihenx=1.
dx ¥ +4

a. _E C. E
25 25

b. 4 d 1
25

5. The position 5. in metres. of an object moving in a straight line is given by s(¢) = 5t - 2%,
where 1 is the time in seconds. Determine the velocity of the object at time f= 1.
a. 15m's c. Om's
b. 5m/s d —-5ms

6. An initial population. p. of 1500 bacteria grows in number according to the equation

5t
) =1500[1+ X
P [ :2+301

where £ is in hours. Determine the rate at which the population is growing after 3 h.

a. 0.069 bacteria’h ¢. 281 bacteria’h
b. 104 bacteria’h d. 4038 bacteria’h
2
7. For which value(s) of x is the tangent to flx) = :;_:13 horizontal?
a x=1 c x=-1.3
b. x=-3.1 d x=3
- _ T ' . x4+ k
§. Determine the value of k for which 7'(3) = 2. if flx) = 1

a. -9 c. 5
b. —5 d 9
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9. If flx)= «4‘ x-1 and g(x) = x+ 1. which expression is equal to flg(x))?

bl
S PN o & x+1)-1
«.’x2+2x d «.Jx2+x—1

10. Determine the slope of the tangent to the curve y = (2x - 3):2)2 at(1.1).

a. -16 c. -2
b. -8 d 8



